MFM2P – Similar Triangles

Indirect Measurement

1. A building casts a shadow that is 690 m long.  Laxmi, whose height is 150 cm, standing by the building casts a shadow that is 120 cm long.  What is the height of the building?

2. A flagpole casts a shadow that is 62 feet long Amissi, whose height is 6 feet casts a shadow that is 21 feet long.  How tall is the flag pole?

3. Solve for x.


4. Alme is standing 4 feet from a mirror.  The mirror is placed 7 feet from a tree in order for Alme to be able to see the top of the tree.  If Alme is 5.5 feet, how tall is the tree?

